Standard Form of Quadratic
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What you will learn about:
Factoring Trinomials

Factoringwhena=1

Steps
1) Find numbers that will multiply to constant (c) that will add
together to get linear term (b).

2) Write as linear factors (x + p)(x £ q)

Write each quadratgf as a product of linear factors.
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If NO GCF either guess and
check or split the middle term
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Guess and Check

—5 (%1 L)(zﬁD

10x2 + 140x + 490

lo(xt+i4xt Ltﬂ

10 (x+7)(x+7)
10(a1)>

—3x* + 48

-3(x* 1)
-_!:.Cx-'-l)(ﬂf-b

5%
362 £3)-2 5x% —7x — 6
.
Sx+3 )X -
IGx +2)(x -] ) ¢ »L»-:( [)
3 —f—- 3){“1;‘:‘;( -3 2
o 2 X ~X= X -/ ¢
2 . - >
I -2 1 -¢
2 -3
3x* 4+ 8x—-3 2x24+9x -5 ~ |
(3% =1 e 37 I (2x-1)(x+5) é_’j

- 5- _I
> ' ~5 [

2|Page



